Amphenol

© 2016 AFC

FCi

™

PART NUMBER

HOOD ST/E

SOO0AZETIATIALE

KT 09

40

mEnEnEnEn
BREREREEE:

GROMMET SET

G117

41

| Oy 22—

29

NOTES: (FOR EVERY SIZES)
|- OPERATING TEMPERATURE:
¢- INDIVIDUAL KITS SEALED

I[N UNASSEMBLED FORM,
BOM AS SHOWN [N TABLE

-40°C TO +120°C
IN PLASTIC COVER

RoHS [NFORMATION:

THE LF PRODUCT MEETS EUROPEAN UNION
DIRECTIVES AND OTHER COUNTRY REGULATIONS
AS DESCRIBED IN 65+22-009

THE PRODUCT IS NOT INTENTED TO BE EXPOSED
10 A MANUFACTURING SOLDER PROCESS

[ TEM NO. QTY. PART DESCRIPTION
‘ ‘ DTPKO{aiUPPER CO\/ER spec ref - dr Dipu Joseph 2020/09/18 projecfion size scale
2 ‘ DTPK09*LOWER CO\/ER tolerance std eng |Detouilon, Da 2020/11/17 mm A?) 3:2
0 106 TOLERANCES UNLESS [— T, éi%—[:} —
3 2 MSX‘ ‘ 5 SCREW SO 1101 OTHERWTSE SPECTRIED appr | Wollin, Severi 2020/11/13 product family -|rel levelt Released
4 | D45/K-D2 GROMMET SET 0.X +0.3 o ° rev
o Amphenol |- DSUB METALI/ZED HOOD =
5 2 UNC 4-40%47 JACKSCREW surfoce / ineor | 00X | 40,10 FCi|~ = 86OALxxIATTKLE
0.XXx |£0.005 © A
0 f M3 NUT 1SO 1302 |ongular | ©° +2° cat. 10 3 Product - Customer Drw [ sheet 1 of 4
e ? 3 PDS: Rev :A STATUS:Releaded Printed: Nov 17, 2020




© 2016 AFC

FCi

Amphenol

™

PART NUMBER

HOOD ST/E

SOOOAZATIATIALE

KT N

SIr1

- QG
= C ) =
- (@ D) [ :[
L | || A€ g
= | 1
40 5 33.
0.2 9.0 7.0 5.0 4.0
E§o° L)-" o L)-' o L)-' o L)-' o
O O O O O
| | [ | [ | 1 | II;|
I | | | | 1 | 1
% O O O ©) O
i ,°0 i 3) io_-o io_-o io_-‘o
GROMMET SET
| TEM NO. QTY. PART DESCRIPTION
‘ ‘ DTPK ‘ 57UPPER CO\/ER spec ref dr | DipuJoseph 2020/09/18 projection mm size scale
oferance s en Detouillon, Da 2020/11/17 A?) .
4 | DTPKIS-LOWER COVER *\80406” TOLERANCES UNLESS Chf_ %@7[]7 — 3:2
3 ? M3X1 | 5 SCREW 'S (g | OTHERWISE SPECIFIED oo —" oroduct family el leve; Released
4 | D457K-D2 GROMMET SET o 203 [ Te e METALIZED HOOD -
5 2 UNC 4740><47 JACKSCREW surface M linear 0.XX +0.10 pFCit > 8655AZXX|A||KLF A
0.XXX |£0.005 - -
0 2 M3 NUT SO 1302 |ongular 07 +2° cat. no | Product - Customer Drw |sheef 2 of 4
R 2 3 PDS: Rev :A STATUS:ReIea«Qed

Printed: Nov 17, 2020




Amphenol

© 2016 AFCI

FCi

™

PART NUMBER

PACK

HOOD ST/E

8OO0AZBTIATIALE

KT )

5

49.

04

41

1L T I
BRERERERE

GROMMET SET

Q11!

| TEM NO. QryY . PART DESCRIPTION
‘ ‘ DTPK257UPPER CO\/ER spec ref dr Dipu Joseph 2020/09/18 projecfion size scale
2 ‘ DTPK25*LOWER CO\/ER tolerance std eng |Detouilon, Da 2020/11/17 mm A?) I
50 40 |ofE S [ ] A= T
3 2 MSX‘ ‘ 5 SCREW SO 1101 appr | Wollin, Severi 2020/11/13 product family -|rel levelt Released
4 | D45/K-D2 GROMMET SET 0.X +0.3 o ° rev
o Amphenol |- DSUB METALI/ZED HOOD <

5 2 UNC 4-40%47 JACKSCREW surfoce / ineor | 00X | 40,10 FCi|~ = 86OALxxIATTKLE

0.XXx |£0.005 © A
6 2 M3 NUT 150 1302 [anguiar | @ +0° ot 1o ] Product - Customer Drw [sheet 3 of 4

R ? 3 PDS: Rev :A STATUS:Releaded

Printed: Nov 17, 2020




Amphenol

© 2016 AFC

FCi

™

PART NUMBER

PACK

HOOD ST/E

8OO00AZCTIATIALE

KT 31

o)

04,

063.95
70 5.3
0.7 9.0 1.0 5.0 4.0
L%-' L«"p Jo-'o L-'o L-'o
O O @] @] O
[ [ | 11 | 1 [ [
| |
[ [ [ 1| [ 1 [ [
%O O @] @] O
BRENRNGRRGS
GROMMET SET
[ TEM NO. QTY. PART DESCRIPTION
‘ ‘ DTPK377UPPER CO\/ER spec ref dr Dipu Joseph 2020/09/18 projecﬁon size scale
2 ‘ DTPK:%?*LOWER CO\/ER tolerance std eng |Detouilon, Da 2020/11/17 mm A?) I
o a0 TOLERANCES UNLESS [T @S —
3 4 MSX‘ ‘ 5 SCREW SO 1101 OTHERWISE SPECIRIED appr | Wollin, Severi 2020/11/13 product family -|rel levelt Released
4 | D45/K-D2 GROMMET SET 0.X +0.3 o ° rev
o Amphenol |- DSUB METALI/ZED HOOD <
5 2 UNC 4-40X47 JACKSCREW surfoce / fineor | 0% | £0.10 FCi |- o 860ALXxIATIKLE
0.XXX |4£0.005 © A
6 4 M3 NUT 150 1302 [anguiar | @ +0° ot 1o ] Product - Customer Drw [sheet 4 of 4
R ? 3 PDS: Rev :A STATUS:Releaded Printed: Nov 17, 2020




	Sheet 1
	Views
	new_view_1
	right_2
	new_view_3
	new_view_4
	new_view_25


	Sheet 2
	Views
	new_view_6
	right_7
	new_view_8
	new_view_9
	new_view_26


	Sheet 3
	Views
	new_view_12
	right_13
	new_view_14
	new_view_15
	new_view_28


	Sheet 4
	Views
	new_view_21
	right_22
	new_view_23
	new_view_24
	new_view_29



